
SAP ABAP table CALP {Sales Price Calculation: Item in a Price Calculation}

CALP

MATNR [CHAR (18)]

VRKME [UNIT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

WERKS [CHAR (4)]

PLTYP [CHAR (2)]

BGINT [NUMC (10)]

MATKL [CHAR (9)]

SATNR [CHAR (18)]

PMATN [CHAR (18)]

HWAER [CUKY (5)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

INFNR [CHAR (10)]

BEWRK [CHAR (4)]

BEVKO [CHAR (4)]

BEVTW [CHAR (2)]

WAERS [CUKY (5)]

KWAER [CUKY (5)]

VWAER [CUKY (5)]

EVWRS [CUKY (5)]

EKERV [CHAR (2)]

EFNAM [CHAR (30)]

VKERV [CHAR (2)]

PSTRA [CHAR (2)]

PVGRD [CHAR (4)]

EINA

MANDT [CLNT (3)]

INFNR [CHAR (10)]

 CALP-INFNR = EINA-INFNR 
0..N

0..N

KLAH

MANDT [CLNT (3)]

CLINT [NUMC (10)]

 CALP-BGINT = KLAH-CLINT 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 CALP-LIFNR = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 CALP-MATNR = MARA-MATNR 

0..N

0..N

 CALP-PMATN = MARA-MATNR 
0..N

0..N

 CALP-SATNR = MARA-MATNR 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 CALP-BEWRK = T001W-WERKS 
0..N

0..N

 CALP-WERKS = T001W-WERKS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CALP-VRKME = T006-MSEHI 
0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 CALP-MATKL = T023-MATKL 

0..N

0..N

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

 CALP-PLTYP = T189-PLTYP 

0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CALP-EVWRS = TCURC-WAERS 

0..N

0..N  CALP-HWAER = TCURC-WAERS 

0..N

0..N
 CALP-KWAER = TCURC-WAERS 

0..N

0..N

 CALP-VWAER = TCURC-WAERS 
0..N

0..N

 CALP-WAERS = TCURC-WAERS 0..N0..N

TFDIR

FUNCNAME [CHAR (30)]
 CALP-EFNAM = TFDIR-FUNCNAME 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 CALP-BEVKO = TVKO-VKORG 

0..N

0..N

 CALP-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 CALP-BEVTW = TVTW-VTWEG 

0..N

0..N

 CALP-VTWEG = TVTW-VTWEG 

0..N

0..N

TWBN

MANDT [CLNT (3)]

PV_GRUND [CHAR (4)]

 CALP-PVGRD = TWBN-PV_GRUND 

0..N

0..N

TWEV

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

EKERV [CHAR (2)]

 CALP-EKERV = TWEV-EKERV 

0..N

0..N

 CALP-VKERV = TWEV-EKERV 

0..N

0..N

TWPS

MANDT [CLNT (3)]

PSTRA [CHAR (2)]

 CALP-PSTRA = TWPS-PSTRA 

0..N

0..N

WYT1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

 CALP-LTSNR = WYT1-LTSNR 

0..N

0..N


